3.2

(c) F(x,y,2)=5(2,3,5,6)
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3.6

(c) F=ABCD + ABC + CD+ BD
=%(1,3,7,09,11, 14, 15)
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3.11

F(w, x,y,2)=2(0,1,3,5,7,9, 10, 13, 15)
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3.15

(©)F = S(5, 6, 7, 11, 14, 15)

d=5(@3,9, 13)
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3.16
(a) F(A, B, C, D) =AD + BCD’ + ABC + ABCD

(2
AB 00 01 11 10

00| O 0 0 0

o1 1 1 0 0

11 1

101 O 1 1 0

D

F=AB+BC’+ AD

= [(AB)'(BC)'(AD)T



()

F=A"+C'+D)A +C")(C' +D)
F=A+C+D)+A+C)+(C'+DY
F'=ACD+AC+CD

CD C
I | r r r
AB 00 01 11 10 F=C'+4D
iy iy 3 my F={(Cid+D))
00| 1 1 0 1 F = (C(4'D)")’
Ty ms msz mg 1
or] 1 1 0 1 c

B myz mps mps M4 B —
1| 1 1 0 0 — F
4 s g ) Mg - A __>_
10 1 1 0 0 D' —

D

3.21

F=w(x"+y +2)+xyz
=wx +wy’ +wz+Xxyz

= [wx)" (wy)" (w2)" (xy2)T
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